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Python (C K BFIDEN
O SATSIDA2R— K

import numpy as np \ .
numpy EWDBUESTES AT SUZ A 27— . np
EWVWDZRAITHEATEDILDICLTVND

@ TF—HDES
y1 =[10, 40, 30, 40]
X bylZz{ERk. €DH(C4DDEUE 10, 40, 30,
40 T EYTE

?® FHOEH EFR
print(np.mean(y1l))

numpy®meanz{¥> TUX bylD¥FEHHZzEH
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import numpyasnp | -1 S5 UDA 2 k—

y1=1[10,40,30,40] @ —_
v2=1[5,10,520] @~ >
print(np.mean(y1))

print(np.mean(y2)) FHEOEH EFR

71—k

o Import numpy as np

vl = [10, 40, 30, 40]
yZ2 = [b, 10, b, 20]
printlnp.meaniyl )
printinp.meaniy2))
30.0
10.0 28
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import numpy as np \ .
numpy EWDBUESTES AT SUZ A 27— . np
EWVWDZRAITHEATEDILDICLTVND

@ F—HD#Em
y1 =[10, 40, 30, 40]
X bylZz{ERk. €DH(C4DDEUE 10, 40, 30,
40 ZESTE

® MMEREIOEH RN
print(np.var(yl, ddof=1))

numpy®varz{E> CUX hylD¥EEZ=EHH
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SATSUDAh— b

import numpy as np

vyl =[10, 40, 30, 40] >/
y2 =[5, 10, 5, 20]

print(np.var(yl, ddof=1))
print(np.var(y2, ddof=1))

1—K

MRIDEDEL EFRR

° import numpy da= np

vl = [10, 40, 30, 40]

v2 =[5, 10, 5, 20]
print(np.variyl, ddof=1))
print(np.variy2, ddof=1))

200.0
50.0
30
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import numpy as np
numpy EWDEIBETES A TS UZA 2 7/R— . np

EVWDHEFICTHERATEDILDICLTND
@ F—H DN
y1l = np.random.normal(100, np.sqrt(20), 1000000)

)X NZAER. IERRDMICHED.
15 (F 100, 78%(E 20, T-—FDfEZE(F 10000001E]

@ FIHDEH XK
print(np.mean(y1l))
numpy®Dvarz{E> CUX ry1D¥EgZ=E T
@ MERBDEH EFROR
print(np.var(yl, ddof=1))
numpy®varz{EE> CUX hy1lDFEIz=HH 31
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Falibuse Lok

SIS DA 2R— b
IERDMCD S A LT —
y1l = np.random.normal(100, np.sqrt(20), 1000000) 1913 100, ELZE 20,

7 — & DOE#L13 10000001E]

import numpy as np

print(np.mean(y1))

print(np.var(y1, ddof=1)) EEHDEH EF R
I—RK NMEoalog T X x

o import numpy as np

y1 = np. random. normal (100, np.sqrt(20), 1000000) SABNZ N5
| M EIDAE (i
print (np. mean(y1))

print (np. var (y1, ddof=1)) E ﬁﬁ&@'fﬁ(:i_j <

99. 99953623437364 (KEOZERNC LKD)
19. 98958992597814 >
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545 UDA > h— b
ERDMICREDS ST LT —5H
y1 = np.random.normal(100, np.sqrt(20), 1000000) Y1504 100, 8 20,

. N
import matplotlib.pyplot as plt 7 é\?fﬁ&‘i 10000001
plt.hist(y1) EANS A

plt.show()

import numpy as np

d—F

° import numpy as np

y1 = np. random. normal (100, np. sqrt(20), 1000000)

import matplotlib. pyplot as plt
plt.hist(y1)
plt. show()
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import numpy as np
numpy EWDEIBETES A TS UZA 2 7/R— . np

EVWDHEFICTHERATEDILDICLTND
@ F—H DN
y1l = np.random.normal(100, np.sqrt(20), 1000000)

) X ~zEAERL. L_%Eﬁﬁ(:ﬁb
15 (4 100, 98NS 20, T — /S'dbﬂﬁlyﬂuzt 1000000

@ B>TUSIETL S EDEERES
n=>5
S = np.random.choice(yl, n)
print(s)

numpy @ choice ZFIBLT. >4 AITESN

34



> T U0 ITUVMERZTSD (Google Colaboratory) {

import numpy as np S5A45UD1 > h—
IF LRSS LT —5
y1 = np.random.normal(100, np.sqrt(20), 1000000) MBI - 4
1915 100, 9 EUT 20,
n=5 T — X O{E%51% 10000001
s = np.random.choice(y1, n) H> 1) 5T\ 5 BD
print(s) ,
: ZAEED
J—R
° import numpy as np

y1 = np. random. normal (100, np. sqgrt(20), 1000000)

n=>5
s = np. random. choice(y1, n)
print(s)

[101. 06350089 101. 36700607 98. 7045995 103.86721812 100. 21838381] 3
5
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Falibese Aok,

import numpy as np 514 TSUDA > h— b
IEARDMICRED S Y LT —H
1313 100, 2EXE 20,
n=5 7 — % OfE% 13 100000018
foriin range(10): S TUO%TN 5 ED
s = np.random.choice(y1, n) @A xIEE T E% 10 EED

y1 = np.random.normal(100, np.sqrt(20), 1000000)

print(s)
IR9
d—RK

y1 = np. random. normal (100, np. sqrt(20), 1000000)

n=>5

for i in range(10):
s = np. random. choice (y1, n)
print(s)

[ 99.57333765 100. 34407078 96. 15176441 100. 75205605 98. 67265777]
[ 99.24053842 104.28248924 98.42972841 101. 83177348 96. 18225991]
[104. 06978965 109.04532549 95.11935808 98. 61405463 108. 82277503]
[100. 47836989 102. 61329203 98. 96938859 108. 95667046 102. 5529762 ]
[103. 26935984 103. 4297482 105.97976084 103. 73104471 105. 12278499]
[110. 40190064 105. 19766063 97.75334877 100. 36800352 96.52194538]
[ 95.33534054 95.94443966 105.55636137 98. 68895072 101. 23234108]
[107.83170478 102. 86325636 106. 45443893 100. 30073682 92. 80825688]
[ 99.04004677 109. 37320386 93.55374136 103. 23749207 93. 83266271] 36
[ 98.25750234 100.82796909 96.4476809  97. 33202599 94.74852143]
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import numpy as np
y1 = np.random.normal(100, np.sqrt(20), 1000000)

n=>5

foriin range(10):
s = np.random.choice(y1, n)
print(np.mean(s), np.var(s, ddof=1)

1] ctTﬁﬁﬁWZ?&J%{

SA4IS5UDA > m— b
ERDMICHEDSH LT—H
1303 100, 2ELT 20,
— X OE%L 1 100000012
H>TU0%FTUN 5 BD
EIRZEDEZ 10 [EfED

d—Fk

y1 = np. random. normal (100, np. sqrt(20), 1000000)

° import numpy as np

n=>5
for i in range(10):
s = np. random. choice (y1, n)
print (np.mean(s), np.var (s, ddof=1))

99. 58453413805664 3. 493161376110618
100. 46376490954638 15. 012769837691028
101. 84399180733564 16. 830160618354018
99. 18766354756495 7. 369968918039911
99. 06675913470801 28. 539880638789406
99. 62032310008176 29. 422280743584864
99. 31891246044485 20. 28832363139137
101. 15863973704487 15. 33457775743577
100. 49128029556762 35. 09236068784025
98. 8665424315428 8. 329580662341995

Y. A RaaaEt
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import numpy as np 514 TSUDA > h— b
IEARDMICRED S Y LT —H
Fi31% 100, 28U 20,
n=50 7 — % OfE% 13 100000018
foriinrange(10): H>TU>I%EFTU 50 ED
s = np.random.choice(y1, n) @A xIEE T E% 10 EED

y1 = np.random.normal(100, np.sqrt(20), 1000000)

print(np.mean(s), np.var(s, ddof=1)
qJ—K RY, EEARREOAZELR

° import numpy as np

y1 = np. random. normal (100, np.sqrt(20), 1000000)

n = 50

for i in range(10):
s = np. random. choice(y1l, n)
print (np. mean(s), np.var (s, ddof=1))

100. 58102125384593 23. 3539041870206

100. 69685306768895 22. 723841132919972

99, 3468982477124 23.81117222993278

100. 45624067433646 16. 4795674390004

98. 84920984194197 22. 410347758483844

99. 95754961221583 18. 645566912901323

100. 51436304868307 19. 963596233551662

99. 58005570485291 22.03799580718863

100. 10091241013656 18.849077329723183

99.92221249329235 24.141975486167212 38



ZAEL 5 & 50 THRREELENAD .
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99. 58453413805664 3.493161376110618 100. 58102125384593 23. 3539041870206
100. 46376490954638 15.012769837691028 100. 69685306768895 22. 72384113291997/2
101. 84399180733564 16.830160618354018 99. 3468982477124 23.81117222993278
99. 18766354756495 7. 369968918039911 100. 45624067433646 16. 4795674390004
99.06675913470801 28. 539880638789406 98. 84920984194197 22.410347758483844
99. 62032310008176 29. 422280743584864 99. 95754961221583 18. 645566912901323
99. 31891246044485 20. 28832363139137 100. 51436304868307 19. 963596233551662
101. 15863973704487 15.33457775743571 99. 58005570485291 22. 03799580718863
100. 49128029556762 35.09236068784025 100. 10091241013656 18.849077329723183
98. 8665424315428 8. 329580662341995 99.92221249329235 24. 141975486167212

BAL 5 TOFGENMRDEL B 50 TODFG &M REY

BERE. [ERAMCRDSS2HFLT—4. F5ld 100, 28U 20,

TEARE 50 DFERD 1D @ 100.58102125384593, 23.3539041870208
mEILE DD
15 100.58102125384593 @ [100] DEFDTRELH Y Z 5
4385 23.3539041870208 @ [23] DEHTBEADH Y Z 5 39
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